

BMU EUROPENA ROAD RACING AND MOTO CLASSIC

AMCC

#### CHAMPIONSHIP NAVAK SERBIA

Friday 16.09.2022. Saturday 17.09.2022.	
Saturday 17.09.2022.	16:00 - 20:00
•	07:30 - 09:00
Saturday 17.09.2022	
Jury Meeting 1	08:00
oury meeting t	00.00
FREE PRACTICE 1 Moto classic Division - 1 -Class Old Time I MK 50 I MK 125	08:00 - 08:15
FREE PRACTICE 1 Moto classic Division - 2 -Class MK 250 i MK 500 I Open Special	08:20 - 08:35
FREE PRACTICE 1 Class 300 SSP I 125 SP	08:40 - 08:55
FREE PRACTICE 1 Class 600 Formula FREE PRACTICE 1 Class 1000 Formula	09:00 - 09:15
FREE PRACTICE 1 Class 600 SSP	09:20 - 09:35 09:40 - 09:55
FREE PRACTICE 1 Class 1000 STK	10:00 - 10:15
FREE PRACTICE 2 Class 300 SSP I 125 SP	10:20 - 10:40
FREE PRACTICE 2 Class 600 Formula	10:45 - 11:05
FREE PRACTICE 2 Class 1000 Formula	11:10 - 11:30
FREE PRACTICE 2 Class 600 SSP	11:35 - 11:55
FREE PRACTICE 2 Class 1000 STK	12:00 - 12:20
QUALIFYING PRACTICE Moto classic Division - 1 -Class Old Time I MK 50 I MK 125 QUALIFYING PRACTICE Moto classic Division - 2 -Class MK 250 i MK 500 I Open Special	12:25 - 12:40 12:45 - 13:00
WOALIFTING FRACTICE MOLO CIASSIC DIVISION - 2 -CIASS MR 230 FM 300 FOPEN Special	12:45 - 13:00
QUALIFYING PRACTICE 300 SSP I 125 SP	13:05 - 13:25
QUALIFYING PRACTICE 600 Formula	13:30 - 13:50
QUALIFYING PRACTICE 1000 Formula	13:55 - 14:15
QUALIFYING PRACTICE 600 SSP	14:20 - 14:40
QUALIFYING PRACTICE 1000 STK	14:45 - 15:05
Jury Meeting 2	15:10
Lunch break	15:05 - 15:25
RACE START	
RACE CLASS 125SP I 300 SSP 15 krugova	15:30
RACE CLASS 600 SSP 18 krugova	16:00
RACE CLASS 1000 STK 18 krugova	16:30
RACE CLASS 600 Formula 14 krugova	17:00
RACE CLASS 1000 Formula 14 krugova	17:30
	40.00
RACE MOTO CLASSIC Division -1 -klase Old Time I MK 50 I MK 125 8 Krugova RACE MOTO CLASSIC Division -2 -klase MK 250 i MK 500 I Open Special 8 Krugova	18:00 18:30
	10.30
Jury Meeting 3	19:00
Prize-giving ceremony	19:15
The giving ceremony	
Sunday 18.09.2022.	
Sunday 18.09.2022. Warm-up CLASS 600 Formula	09:00 - 09:20
Sunday 18.09.2022. Warm-up CLASS 600 Formula Warm-up CLASS 1000 Formula	09:25 - 09:45
Sunday 18.09.2022. Warm-up CLASS 600 Formula Warm-up CLASS 1000 Formula Warm-up CLASS 125SP I 300 SSP	09:25 - 09:45 09:50 - 10:10
Sunday 18.09.2022. Warm-up CLASS 600 Formula Warm-up CLASS 1000 Formula Warm-up CLASS 125SP I 300 SSP Warm-up CLASS 600 SSP	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35
Sunday 18.09.2022. Warm-up CLASS 600 Formula Warm-up CLASS 1000 Formula Warm-up CLASS 125SP I 300 SSP	09:25 - 09:45 09:50 - 10:10
Sunday 18.09.2022. Warm-up CLASS 600 Formula Warm-up CLASS 1000 Formula Warm-up CLASS 125SP I 300 SSP Warm-up CLASS 600 SSP Warm-up CLASS 1000 STK	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP I 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 1000 Formula         Warm-up CLASS 12SSP 1300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 1000 Formula         Warm-up CLASS 12SSP 1300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1 300 SSP         Warm-up CLASS 1000 Formula         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE START	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP I 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE START         RACE CLASS 125SP I 300 SSP	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1300 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE START         RACE CLASS 125SP 1 300 SSP         15 krugova         RACE CLASS 1000 STK         18 krugova         RACE CLASS 600 SSP	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:00 13:30 14:00 14:30
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP I 300 SSP         Warm-up CLASS 1000 FORMULA         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE START         RACE CLASS 125SP I 300 SSP         18 krugova         RACE CLASS 1000 STK	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:00 13:30 14:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE START         RACE CLASS 125SP 1 300 SSP         15 krugova         RACE CLASS 1000 STK         18 krugova         RACE CLASS 1000 STK         18 krugova         RACE CLASS 1000 STK         14 krugova         RACE CLASS 1000 Formula         14 krugova	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:30 14:00 14:30 15:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE CLASS 125SP I 300 SSP         18 krugova         RACE CLASS 1000 STK         18 krugova         RACE CLASS 1000 Formula         14 krugova         RACE CLASS 1000 Formula       14 krugova         RACE CLASS 1000 Formula       14 krugova	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:00 13:30 14:00 14:30 15:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE CLASS 125SP 1 300 SSP         15 krugova         RACE CLASS 600 SSP         18 krugova         RACE CLASS 1000 STK         18 krugova         RACE CLASS 1000 STK         14 krugova         RACE CLASS 1000 Formula         14 krugova	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:30 14:00 14:30 15:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP I 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE START         RACE CLASS 125SP I 300 SSP         15 krugova         RACE CLASS 1000 STK         RACE CLASS 1000 STK         18 krugova         RACE CLASS 1000 Formula       14 krugova         RACE MOTO CLASSIC Division-1 -klase Old Time I MK 50 I MK 125       8 Krugova         RACE MOTO CLASSIC Division-2 -klase MK 250 i MK 500 I Open Special       8 Kru	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:30 14:00 14:30 15:00 15:30 16:00
Sunday 18.09.2022.         Warm-up CLASS 600 Formula         Warm-up CLASS 125SP 1 300 SSP         Warm-up CLASS 600 SSP         Warm-up CLASS 1000 STK         Warm-up Division -1 -klase Old Time I MK 50 I MK 125         Warm-up Division -2 -klase MK 250 i MK 500 I Open Special         Jury Meeting 4         RIDERS' Briefing         Lunch break         RACE START         RACE CLASS 125SP 1 300 SSP         18 krugova         RACE CLASS 1000 STK         18 krugova         RACE CLASS 1000 Formula         14 krugova         RACE CLASS 1000 Formula         14 krugova         RACE CLASS 1000 Formula         14 krugova         RACE CLASS 1000 Formula       14 krugova         RACE CLASS 1000 Formula       14 krugova	09:25 - 09:45 09:50 - 10:10 10:15 - 10:35 10:40 - 11:00 11:05 - 11:20 11:25 - 11:40 11:25 - 11:40 11:45 12:00 12:00 - 12:30 13:00 13:30 14:00 14:30 15:00



# SUPPLEMENTARY REGULATIONS

BMU European Road Race Championship 2022

Round: Third and fourth

Date: 16.09-18.09.2022.

Venue:Navak Circuit,

Subotište.

City: Pecinci

Country: Serbia

#### 1. ORGANIZERS

FMN: AMSS

- 2. CLASSES SP125,SSP300,SSP600,STK1000,SBK,F-600,F-1000
- 3. ACCESS See attached map

Nearest city: Pecinci GPS coordinates of the circuit: 44.837222 ; 19.958056

#### 4. CIRCUIT INFORMATION

Name: NAVAK length: 2700 m width: 15 m Homologation: 08/20

#### 5. NEAREST HOSPITAL

Name: Hospital Belgrade Approximate distance from venue: 40 km







6. OFFICIALS BMU Steward: Goran Lovrić Race Director: Zoran Pavlović Chief Technical: Walter Gluck Administrative control: Katarina Rašković Paddock Official: Dane Stepanov Timekeeper: Uros Uscumlic CMO: TBA Chief Flagmrashal: Oliver Mardovin 7. MEETINGS OF THE RACE DIRECTION Friday Saturday 08:00 14:45 18:30 Sunday 11:45 17:00 Venue: NAVAK, Direction office

# 8. ADMINISTRATIVE AND TECHNICAL CONTROL

Friday 16:00 - 20:00 / Saturday 07:30 - 09:00

#### 9. INSURANCE, ENTRIES AND STARTING PERMISSIONS

All riders must be authorized by their national federation (FMN) in order to participate in the event(s) via starting permission plus license confirmation (to be presented at the administrative control). All entries must be sent minimum 2 days before the beginning of the Administrative control. All riders will be required to sign additional documents at the Administrative control. Riders under the age of 18 (minors) must be accompanied by a legal representative (parent or guardian) at the technical and Administrative control.

By singing and stamping the Starting permission for a rider, their FMN declares that the rider in question:

- has a valid insurance for motorcycling sports according to FIM Europe requirements,
- has no bans or prohibitions that prevent them to participate in the event,
- is physically and mentally fit to participate in the event,
- has the sporting skills of the required level in order to participate in the event without endangering him or other participants during the event

The organizers disclaim all responsibility for damage to a motorcycle, its accessories and components arising out of an accident, fire or other cases.

The organizers have contracted a third party insurance according the BMU regulations for the days of the event (Friday, Saturday and Sunday) for the amount of 20 000 euro.







All Starting permissions must be sent to

Katarina RASKOVIC Email:motosavezsrbije@gmail.com, mobile: +381 63 372176

Sabin OLARIU Email: <u>sabin@frm.ro</u>, mobile: +40 35 873 574

## **10. ENTRY FEE**

175 euro per rider

#### 11. TIME PRACTICES AND RACES

Qualifying Practices and Races will be run according to the timetable enclosed.

#### 12. RENUNCIATION OF ANY RECOURSE AGAINST SPORTING AUTHORITIES

Riders renounce all rights of appeal against the organizer, his representatives or agents by arbitration or before a tribunal or any other manner not foreseen by the BMU Regulations or the FIM Europe Sporting Code where applicable, for any damages for which they could be liable in consequence of all acts or omissions on the part of the organizer, his officials, representatives or agents in the application of these regulations or contributed to or arising out of their actions.

#### SPECIFIC AND ADDITIONAL REGULATIONS FOR THE EVENT:

Place and date: Belgrade, 18.08.2022

Approved by Organizers: AMSS

Approved by Race Director: Zoran Pavlović

Approved by BMU:

Enclosed:

Map of the circuit Access Map



# SUPPLEMENTARY REGULATIONS

BMU European Moto Classic Championship 2022

Round: Third and Fourth

Date: 16.09-18.09.2022.

Venue:Navak Circuit,

Subotište.

City: Pecinci

Country: Serbia

#### 1. ORGANIZERS

FMN: AMSS

2. CLASSES

#### MK 250, MK Open Special

3. ACCESS See attached map

> Nearest city: Pecinci GPS coordinates of the circuit: 44.837222 ; 19.958056

## 4. CIRCUIT INFORMATION

Name: NAVAK length: 2700 m width: 15 m Homologation: 08/20

#### 5. NEAREST HOSPITAL

Name: Hospital Belgrade Approximate distance from venue: 40 km







6. OFFICIALS BMU Steward: Goran Lovrić Race Director: Zoran Pavlović Chief Technical: Walter Gluck Administrative control: Katarina Rašković Paddock Official: Dane Stepanov Timekeeper: Uros Uscumlic CMO: Ivan Stojanovic Chief Flagmrashal: Oliver Mardovin 7. MEETINGS OF THE RACE DIRECTION Friday Saturday 08:00 14:45 18:30 Sunday 11:45 17:00 Venue: NAVAK, Direction office

# 8. ADMINISTRATIVE AND TECHNICAL CONTROL

Friday 16:00 - 20:00 / Saturday 07:30 - 09:00

#### 9. INSURANCE, ENTRIES AND STARTING PERMISSIONS

All riders must be authorized by their national federation (FMN) in order to participate in the event(s) via starting permission plus license confirmation (to be presented at the administrative control). All entries must be sent minimum 2 days before the beginning of the Administrative control. All riders will be required to sign additional documents at the Administrative control. Riders under the age of 18 (minors) must be accompanied by a legal representative (parent or guardian) at the technical and Administrative control.

By singing and stamping the Starting permission for a rider, their FMN declares that the rider in question:

- has a valid insurance for motorcycling sports according to FIM Europe requirements,
- has no bans or prohibitions that prevent them to participate in the event,
- is physically and mentally fit to participate in the event,
- has the sporting skills of the required level in order to participate in the event without endangering him or other participants during the event

The organizers disclaim all responsibility for damage to a motorcycle, its accessories and components arising out of an accident, fire or other cases.

The organizers have contracted a third party insurance according the BMU regulations for the days of the event (Friday, Saturday and Sunday) for the amount of 20 000 euro.







All Starting permissions must be sent to

Katarina Raskovic Email:motosavezsrbije@gmail.com, mobile: +381 63 372176

Sabin OLARIU Email: <u>sabin@frm.ro</u>, mobile: +40 35 873 574

## **10. ENTRY FEE**

70 euro per rider

#### 11. TIME PRACTICES AND RACES

Qualifying Practices and Races will be run according to the timetable enclosed.

#### 12. RENUNCIATION OF ANY RECOURSE AGAINST SPORTING AUTHORITIES

Riders renounce all rights of appeal against the organizer, his representatives or agents by arbitration or before a tribunal or any other manner not foreseen by the BMU Regulations or the FIM Europe Sporting Code where applicable, for any damages for which they could be liable in consequence of all acts or omissions on the part of the organizer, his officials, representatives or agents in the application of these regulations or contributed to or arising out of their actions.

#### SPECIFIC AND ADDITIONAL REGULATIONS FOR THE EVENT:

Place and date: Belgrade, 18.08.2022.

Approved by Organizers: AMSS

Approved by Race Director: Zoran Pavlović

Approved by BMU:

Enclosed:

Map of the circuit Access Map







start number/startni broj	
Class / Klasa	









# **P R I J A V A / APPLICATION FORM**

**BMU and Serbia Open Championship** 

NAVAK 2022

16.09.-18.09.2022.

Rider's full name/ime takmičara Nationaliti/nacionalnost\_\_\_\_\_\_ FMN/Klub: \_\_\_\_\_ License No./br.licence\_\_\_\_ Equipment: Helmet OK Gloves OK Clothing OK Motorcycle/motor Machine/ motor 1 Machine/ Motor 2 Make/Marka **Engine/broj motor** Frame/broj Ram Capacity/Kapacitet **Cylinders/Cilidra** Gears/ brzina Weight/težina

Potpisani garantuje za istinitost svih navedenih podataka i izjavljuje da je upoznat sa Pravilnikom MSS o moto sportu, BMU, AA, Dodatkom Pravilnika za 2022. godinu kao i posebnim Pravilnikom organizatora i da će ih poštovati u smislu Pravilnika MSS-a.

Takmičar nastupa na sopstveni rizik i odgovornost.

Takmičar se obavezuje da za bilo koju vrstu povrede ili materijalne štete neće utuživati MSS i organizatora trke.

Signed guarantee the accuracy of that information, and declares that he is familiar with the MSS Regulation of motor sport, the BMU, AA, the addition of Rules for 2022. year and the special Rules of the organizers and that they will be respected in terms of the Rules MSS.

Competitor perform at your own risk and responsibility.

Competitor agrees that for any injuries or material damage will not prosecute organizers, MSS and the organizers of the race

In Pećinci \_\_\_\_\_\_ 2022. god.

Applicant's signature / Potpis podnosioca prijave: